DIE-FORMED
RIDGE CAP

END_LAP WITH
CONTINUOUS TAPE SEAL

SIDE_LAP WITH

END_LAP WITH
CONTINUOUS TAPE SEAL

LAP SCREW

wdm SCREW
Ammmom.;__[mwxgkoc._.v

PANEL END WITH
INSIDE CLOSURES

NOTES:

[1] ALL END LAPS MUST BE A MINIMUM OF 8",

[2] METAL SHAVINGS MUST BE SWEPT FROM THE ROOF EACH DAY
DURING ERECTION TO PREVENT SURFACE RUSTING.

[3] TAPE SEAL MUST BE APPLIED WITH NO GAPS OR BREAKS.

[4] #12 SCREWS ARE USED TO ATTACH THE PANEL TO THE
PURLINS. #14 LAP SCREWS ARE USED AT THE PANEL-TO-

|_— LAP SCREW

_ CONTINUOUS
vl TAPE SEAL

#12 SCREW /’m_om LAP

DETAIL AT PANEL END

12" 12"

—
-
-

LAP SCREW
\I CONTINUOUS

TAPE SEAL
/’m_om LAP

DETAIL AT INTERIOR OF PANEL

#12 SCREW

STRUCTURAL STAMP

EBD) ST=E. BULDNG SSSTEMS ne. &\N\ X\\
CUSTONER: L ..

CHRIS WILLIAMS

PANEL ATTACHMENTS. ALL FASTENERS ARE SELF—-DRILLING. REVISIONS

JOB NO: DATE: y

07—-03-060A 4/ 9/07
{1] LOCATION:

LAKE CITY, FLORIDA .k\ 23 -57
7)) DRAWING NAME: SCALE: {

ROOF PANEL DETAILS NONE
] DRAWING NO: DRAWN BY: CHECKED BY:

PDARF A1 MQQ




?

(GUTTER WITH 3 DOWNSPOUTS) o6
: L @ il | “l
_ _ _
| F >
_ AR SRR
| ® @
_ 1) t] LS
A A G A G A A A A A O A I
@ o [=] o Q [« Q [=) [=] o [=3 [=] Q [=] [=3 [=] [=] Q [=] Q o [=] [=] [=] [=] o Q [=] o Q [=] o [=] [=] [=} @
2_ o~ (] N ~N N N o~ o™~ N N ™~ o~ (3] o~ o~ o~ N ™~ o~ ~N N ™~ o N o~ N 3] N ~N o~ o~ ~N ™~
_
_ & >
_ S| @ SR
| ® ®
_

i [ R — il i i il i o i
L @ |
SIDEWALL SHEETING & TRIM: FRAME LINE A
PANELS: 26 GA. R — UGHT STONE
Aw {GUTTER i:.:u@ DOWNSPOUTS) ﬂw @
@ Q &®
L H L
_ _ _

I > vlelelelalelelele]als A
_ @ @ @ @ «+ -+ < <+ «+ «+ <+ <+ <+ <+ <+ - ® 0
_ @ & — ST 5 1515
| T 197 3 @
wle il dle e le e aie e elellslzls ABARARAL: A EAEREARIN
Al lalrlal|f|ala|rla|c|r|r|e|le|le|ele|e]|n 2| 2188 |R 2| 8|8 |%
_
_ < >
_ ® | @ S © & @ o b
_ ® ®
|
1 L S [N PR SR (S S Y NN N N I AR (U N - 1 T S N
L | L @ ] L @ il |
at SIDEWALL SHEETING & TRIM: FRAME LINE D
PANELS: 26 GA. R — LIGHT STONE
€85 STEEL BULDNG SSSTEMS ne.
CUSTOMER:
CHRIS WILLIAMS
JOB NO: DATE:
REVISIONS |~ 97-03-060A 4/ 9/07
8] LOCATION:
LAKE CITY, FLORIDA
(2] ORAWING NAME: SAE
SIDEWALL PANELS & TRIM NONE
3] DRAWING NO: DRAWN BY: CHECKED BY:
PAGE 7 MS

TRIM TABLE
FRAME LINE A & D
OID[ PART
BASE_TRM
0/S_CORN
GUTEND L
CORBOX L
GUTEND R
CORBOX R
GUTTER | 2
R JAMB | 4-3
R HEAD | 5-3'
R HEAD | 5'-0"

9'-0

1

1

1

1

BASE TRM
BASE TRM
BASE TRM
R JAMB
R_HEAD

s s s B OO UIH GIN =

NPpLIN—O

REGORY S. B/ RFIELD, P.R.
L»JG_LJV..1,1n\d.c_q9mv

ADE]

STRUCTURAL STAMP




EAVE STRUT

LAP SCREW . .
(30"°0.C.)

N:M SCREW
Ammmcmﬁ_rmv.o_mrﬁocd

GIRT

BASE SUPPORT

/4

PANEL END WITH
INSIDE CLOSURES

SLAB

NOTES: 3y
[1] METAL SHAVINGS MUST BE SWEPT FROM THE ROOF EACH DAY B
DURING ERECTION TO PREVENT SURFACE RUSTING.

(2] #12 SCREWS ARE USED TO ATTACH THE PANEL TO THE
PURLINS. #14 LAP SCREWS ARE USED AT THE PANEL-TO-
PANEL ATTACHMENTS. ALL FASTENERS ARE SELF—DRILLING.

m- A.-

2" 2"

Nu-_- N:

#12 SCREW

N..__. 2"
a\\
740 { I

|_— LAP SCREW

SIDE LAP

DETAIL AT PANEL END

12"

—
—

AN-

—

#12 SCREW

\l LAP SCREW

7N

SIDE LAP

DETAIL AT INTERIOR OF PANEL

DETAIL AT HEADER/SILL

DETAIL AT PARTIAL WALL

STRUCTURAL STAMP

-

CUSTOMER:

CHRIS WILLIAMS

REVISIONS

JOB NO:

07-03-060A

DATE:

EED) ST=E BULDNG SSSTEMS e M \N
/,

4/ 9/07

0]

LOCAT}

ON:
LAKE CITY, FLORIDA

f2]

»

DRAWING NAME:

SIDEWALL PANEL DETAILS

%wwwwﬁ

SOLE
NONE

131

DRAWING NO:

PAGE 7.1

DRAWN BY:

MSS

CHECKED BY:




\h:,mw & mw = * S QWEV
"’ \\\\l\\% / N
8 H k -0 -3
R R
218 |8 |~ |N
=74 T~ T
— Av _ 2 e -o -19 -AD -ab -l.v no -Qv H s 2
_ T i O A R U R _ Tl Sl |%]|%n
P N - D S - N N S J A i
@ _ || & | & |8 R B O T T T O B
_ _
| _
_ _
& &
| _
_ _
i L A i

{ 1
(FUTURE FRAMED OPENING) &>

ENDWALL SHEETING & TRIM: FRAME LINE 1
PANELS: 26 GA. R — LIGHT STONE

k:.mw >® @ %_ m@ &G

& ® G &
@ 4 ® ® D> O
o ® o ®le &
SR R R R R R R A R R A I A A
&
Ae@ @@ @Av @@ @@ @@ Avav Ava
B B
2 SR T S R = S i
) o S PO

WM_»?M»,rm_ﬂmm 1 & 5
O ID[ PART LENGTH _|
1] BASE TRM [ 207-37
2 | O/S CORN | 20'-0"
3 | RAKE TRM | 20'-3"
4 | RAKE TRM | 10’-2"
5 | PEAK BOX | 1'-4"
6 | R JAMB 14'-3"
7 | R HEAD 12'-3"
8 | BASE TRM | 8'—4"
10| R JAMB 4'-3"
111 R HEAD 5-3"
12| R HEAD 5'-0"
13] R JAMB 7'-5"
14 R HEAD 3-7"
E.

ENDWALL SHEETING & TRIM: FRAME LINE 5

PANELS: 26 GA. R ~ LIGHT STONE

STRUCTURAL STAMP

@mﬂﬂ.mﬂb—ﬁ SHUSTEMS ne.

oxm_m WILLIAMS

JOB NO: DATE:
REVISIONS 07—03—060A 4/ 9/07

)] LOCATION:

LAKE CITY, FLORIDA
3] DRAWING NAME: SCALE:

ENDWALL PANELS & TRIM NONE
13l DRAWING NO: DRAWN BY: CHECKED BY:

SN PAGE 8 MSS




RAKE SUPPORT

LAP SCREW
(30" 0.C.)

wsm SCREW
(SEE DETAILS FOR LAYOUT)

GIRT

BASE SUPPORT

L %\

PANEL END WITH
INSIDE CLOSURES

NOTES:

[1] METAL SHAVINGS MUST BE SWEPT FROM THE ROOF EACH DAY
DURING ERECTION TO PREVENT SURFACE RUSTING.

[2] #12 SCREWS ARE USED TO ATTACH THE PANEL TO THE
PURLINS. #14 LAP SCREWS ARE USED AT THE PANEL-TO-
PANEL ATTACHMENTS. ALL FASTENERS ARE SELF-DRILLING.

#: m- A--o m " Av-

2", 2" 2" 2" .o._._, 2"
| _— LAP SCREW
4\\
720 B
#12 SCREW SIDE LAP
DETAIL AT PANEL END
_ 12" ) 12" )
.\\|_.>_u SCREW
/N
#12 SCREW SIDE LAP

DETAIL_AT INTERIOR OF PANEL
DETAIL AT HEADER/SILL
DETAIL AT PARTIAL WALL

, P.B.

ROAD

31620
E#54419

STRUCTURAL STAMP

EED) STEEL BULDING S[STEMS nc.
[ CUSTONER

mIm_m WILLIAMS

JOB NO: DATE: { /
REVISIONS 07—-03-060A 4/ 9/07 /
M LOCATION:
LAKE CITY, FLORIDA %. ~2.3-07
2] DRAWING NAME: SCALE:
ENDWALL PANEL DETAILS NONE
3] DRAWING NO: DRAWN &Y; CHECKED BY:
PAGE 8.1 MSS




14 SD SCREW

ROLL CAULK 24"0ON CENTER)

ROOF PANEL

+— RAKE TRIM

14 SD SCREW
240N CENTER)

e— WALL PANEL

RAKE TRIM DETAIL

PEAK BOX

PEAK BOX DETAIL

CORNER

GUTTER END DETAIL

TRIM NOTES:

{1] SEAL TRIM SPLICES WITH TUBE CAULK.

GUTTER RAKE TRIM [2] SECURE GUTTER SPLICES AND END
PLUGS WITH RIVETS.

[3] SECURE ALL OTHER ROOF TRIM
SPLICES WITH TRIM SCREWS UNLESS
NOTED OTHERWISE.

BOX [4] TRIM SCREWS ARE LOCATED 24" ON
R\P ¢ CENTER UNLESS NOTED OTHERWISE.

ROOF PANEL
I/S CLOSURE

#14 SD SCREW
(12" ON CENTER)

GUTTER

2l

X" _BOTTOM OF —t» ¢/
GUTTER AND FOLD
TABS INTO D'SPOUT

DOWNSPOUT —=
WALL PANEL

NOTE: INSTALL GUTTER STRAPS 3'0" ON CENTER.

NOTE: INSTALL D'SPOUT STRAPS 5'0" ON CENTER.

WALL PANEL—s
1/S CLOSURE— }1-1/2
BASE izl.f T .

WALL PANEL

0/S CORNER TRIM

14 SD SCREW
24"ON CENTER)

WALL PANEL

GUTTER DETAIL BASE TRIM DETAIL 0/S CORNER DETAIL
HEAD TRIM
WAL PANEL 12, SD SCREW
12" ON CENTER)
13 N m%mﬂwzma WALL PANEL JAMB TRIM
#12 SD SCREW WALL PANEL

HEAD TRIM

HEAD TRIM DETAIL AT HEADER

HEAD TRIM DETAIL AT SILL

(24" ON CENTER)

JAMB TRIM DETAIL AT JAMB

AD

EED) S=EL. BULONG SHSTEMS ne

CUSTOMER:
CHRIS WILLIAMS
JoB NO: DATE:
REVISIONS 07-~03—-060A 4/ 9/07
)] LOCATION:
LAKE CiTY, FLORIDA
] GRANG TUNE: SCAE:
TRIM DETAILS NON
3] DRAWING NO: —Egiz ar: CHECKED BY:
PAGE 9 MSS

STRUCTURAL STAMP

&N)waoxw




DO NOT INSTALL GUTTER WITH INSTALL GUTTER WITH
OUTSIDE FACE PERPENDICULAR OUTSIDE FACE PERPENDICULAR
TO THE GROUND. TO THE ROOF.

GUTTER INSTALLATION DETAIL

STRUCTURAL STAMP

i) STEEL BULDING SYSTEMS nc.

CHRIS WILLIAMS

JOB NO: DATE:
REVISIONS 07—-03—060A 4/ 9/07
& N AKE CITY, FLORIDA 7
@ BRAWNG TUWE: : SoALE: \\% ~23-0]
GUTTER INSTALLATION DETAIL NONE
_“uu DRAWING NO: DRAWN BY: CHECKED BY:
PANF a1 MQQ




[c]

[2]

[

)
3
7]
o
2
wn
FEERE
I §090§
EZEHz |S |27
Ocmm|2
S~ B - 2
21811 |=
cRIRIGE|W
cl2 |2
S| |7
S8
e
<3
ny
0" g Ill
Bl
EN
m\
48 o %
P S
o
g ~J
2
n

3NON

d 3NN 3JAVY4 NOLLYINSNI TIVM3IAIS

dWV1IS TWVHNLONALS

21°-0" (2)
—

—

I
210" (2)

L1

217049
| |

|

Ll
21°-0" (2)

L

21*—0" (2)

21°-0" (2)

21'-0" (2)

21'-0" (2)

21°-0° (2)

7°-0" (

21"-0" (2)

7'-0" (

21'-0" (2)

21°~0" (2)

vV 3NN 3AVY4 NOILVINSNI 711YM3AIS

21°-0" (2)

21°-0" (2)

21°-0" (2)

21°-0" (2)

21°-0° (2)

21"-0" (2)

21"-0" (2)

21'-0" (2)

21°-0" (2)
21°-0" (2)
21°-0" (2)
21°-0" (2)
R
| I L 1
21'-0" (2)
T ] T |
21ko" (& (.
L1 L
| 207 |

21'-0" (2) :

L AN 3INVYS NOLLYINSNI TIVMAN3

S 3ANI JAVH4 NOILVINSN!I TIYMAON3

_22_'—07(3)—__—} |
l |
22'-0" (3) |
|
______ _1 |
23'-0" (4)
230" (4) | —©@
24’-0" (5)
24'—0" (5)
23'-0" (4) |
—@
23°-0" (4) |
22'-0" (3)
|
22'-0" (3)
I —®
P
;_s
1T —®
22°-0" (3)
—/ —
| ool
220" (3 (-
23'-0" (4) \‘
g \
e -
—t —
wodh L
1
N
24'-0" (5)
- |
1 I
230" (&) I &
23'-0" (4) I
zzca-T,? —
I N
— | DN |
22°-0" (3)
I -
o
2
o
NP GN - F
[®lmals) [»]
——b c
~ ; gg E %o Jo i ST\ Jz>
3|z Ul Ess=sss3|%
TBEH| [FTTTT|S
—Ix mE GHUN -
I -2
28 |9=Z],0] [oonals
ooz |llgl"Z(|l1t11 1o
2 0 1912 e, Qo909 Y
fe ()] 'y U,u_J NN NN
3 (G| M| |RGR=TE
=
I Y L&bhalg
He | T 3 3 3 T

AN AW

L

gsy
J18vL NOILVINSNI TIvM




GUTTER

ROOF PANEL
I/S o_.omcmmw j
INSULATION

WALL PANEL—=
INSULATION

EAVE DETAIL
NOTE: FOLD ROOF INSULATION BACK 3" TO 6".

INSULATION

WALL PANEL

|/S CLOSURE

BASE TRIM

BASE DETAIL
NOTE: FOLD INSULATION BACK 3" TO 6"

CAUTION: FAILURE TO FOLD FACING OF INSULATION BACK
FROM THE PANEL EDGE AT THE BASE AND EAVE
COULD RESULT IN PANEL DAMAGE AND WILL VOID
THE PANEL WARRANTY.

ROOF PANEL u./

INSULATION

<+— RAKE TRIM

<

INSULATION e— WALL PANEL

RAKE DETAIL

WALL PANEL H—./

INSULATION

0/S CORNER TRIM

<

INSULATION

V;I WALL PANEL

CORNER DETAIL

ROOF PANEL

SKYLIGHT PANEL
£\

ROOF PANEL
SN

|\7|

SKYLIGHT TRIM I._l\

INSULATION
[1] INSTALL SKYLIGHT TRIM ONTO PURLINS. __.l PURLIN
[2] INSTALL INSULATION OVER SKYLIGHT TRIM.
[3] INSTALL ROOF PANEL AND SKYLIGHT PANEL OVER INSULATION.
[4] CUT OUT INSULATION FLUSH TO SKYLIGHT TRIM WITH A RAZOR KNIFE.

SKYLIGHT TRIM
INSULATION

SKYLIGHT TRIM DETAIL

=

STRUCTURAL STAMP

EED) STEE. BULDNG SWSTEMS e

CUSTOMER:
CHRIS WILLIAMS /
JOB NO: DATE:
REVISIONS 07-03—060A 4/ 9/07
)] LOCATION;
LAKE CITY, FLORIDA
2 [ DRAWING NAME: SCALE:
INSULATION DETAILS NONE
3] DRAWING NO: DRAWN &Y: CHECKED BY:
PAGE 10.1 MSS




